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- SECOND REVISION EXAMINATION, FEBRUARY. |
MATHEMATICS v 103394

Time Allowed ¢ 3,00 Hours] (Max. Marks : 106
PART - A
I Choose the best answer of the following: sxi=14
1 If there are 1024 relations from a setA={1,2,3,4, 5}to a set B then the imber of eleménts in B
(@ 3 (b) 3 ¢ 4 R
2 If{(5, 1), (6, b)} represents an constant function, then the y; )lupf,f,.(
(a) 5 (b) 6 © 7 d 1
3 = (mod 100)
(a) 1 (b) 2 ) 3 (d 4
< Lol IR
4.  The next term of the sequence B8 28 is
1 i 2 1
@) % (b) 77 (c) 3 @ &
5.  The system three of linear equation in three variables is inconsistent if their plane is
(@) intersect only at a point (b) Intersectin a line
(c) Coincide with each other (d) Do notintersect
6.  Find the matrix X if 2X + ( 2 ( 2 7)
5% 7. 9 =5
2 2 202 2 Pl
(a)(z -1) () (2 -1) (C)(z 2) (d)(z 2)
7.  The graph of the quadratic equation is alwéys —
(@ hyperbola (b) Straightline (¢) Circle (d) Parabola
8. InALMN, ZL =60° ZM =500, If ALMN ~ APQR then the value of ZR is
(@) 40° (b) 70° (c) 30° (d) 110°
9. If slope of the line PQ is 1/\[—then slope of the perpendicular bisector of PQ is
@ V3 b) -3 © 'z @ o
10. tanB cosec? - tan® is equal to
(@) secH (b) cot?6 (c) sin® (d) cot®

11. The angle of elevation of a cloud from the a point h meters above a lake is . The angle of depression of its
reflection in the lake is 45°, the height of loaction of the cloud from the lake is
(@) D(ttanB) by K100 (©) htan(45°-B) (d) noneofthese

1-tan B 1+tan 3
12. Ifthe radius of the base of a right circular cylinder is halved keeping the same height, then the ratio of the

volume of the cylinder thus obtained to the volume of origanal cylinder is

(a) 12 (b)) 1.4 (). 1:6 (d 18
13. Variance of first 20 natural numbers is
(@ 3225 (b) 44.25 {e). <3325 (d)y 30
14. Probability of the sure event is
(@ 1 (b) O (c) -1 : (A2
: PART -B

Answer any 10 questions. [Question No. 28 is compulsory]. 10x2=20

15/ LetA={3, 4,7, 8} and B = {1,7,10}. Which of the following sets are relations from A to B?

) R,={(3,7).(47),(7,10), (8, 1)} i) R,={(31),(4,12)}
16. . Determine whether the graph given below represent functions. Give reason for your answers concerning

~ each graph.

ind the greastest number that will divide 445 and 572 leaving remainders 4 and 5 respectively.
f1°+2’+33+ ........ +k¥=44100then find 1 +2 + 3 + ....... + k. “CH/10/Mat/1
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w that the given
te is flving at a height of 7! ;

the ground The inclination of the stri
: o

ere is no sick in the string
1d the volume of a cylinder whose height is 21 nd wit
the total surface area of a cone of rad en A ol than
the range and the smallest value of a set of data are 2€
A die is rolled and a coin is tossed simultaneously | !,‘,ﬂ,\‘ probability t
the coin shows a head '
Find the intercepts made by the line 4x - 9y + 36=0 on the coordinate axes
Il.  Answer any 10 questions only [Q.NO: 42 is cor:sz:or(;] ;
X

29 Let A= The set of all natural numbers less than 8, B = The set of all prime number
of even prime number. Verify that AN B)xC=(AxC)N (BxC) -,
If f(xz - 2xz+3. g(x) = 1-2x and h(x) = 3x. Prove thét fo(@oh)=(fog)oh
If p,X X p,**x p,* xp**= 113400 where p,, p,, p,. p, aer primes in éscendmg order and X,, X
find the value of p,, p,, P, P, and X,, X,, X,, X, : '
32 The product of three consective terms of a Geometric Progression is 343 and their sum is

terms.
{5 2109 2.1
83, UA= andB=| -1 4| show that (AB)" = BTAT
i 0 2

34 Find the GCD of the polynomials x*+x?-x+2 and 2x3-5x?+5x-3
35 If one root of the equation 3x? + kx + 81=0 (having real roots) is the square of the other then find
36 State and prove Basic proportionality Theorem (Thales Theorem)
37  Show that the given points form a parallelogram.

A(2.5, 3.5), B(10, -4), C(2.5, -2.5) and D(-5, 5)
38. A mobile phone is put to use when the battery power is 100%. The percent of battery power 'y (in decima

remaining after using the mobile phone for x hours is assumed as y = -0.25x + 1.

i) Find the number of hours elapsed if the battery power is 100%. dom

i) How much time does it take so that the battery has no power. ;

1 +sind - cos® | _ 1-cosb

39. P S
Oyt 1 + sin® + cosO 1 + cos0

40. The frustum shaped outer portion of the table
lamp has to be painted including the top part. Find the total cost
of painting the lamp if the cost of painting 1 sq. cm is I2.
. 41. Inastudyaboutviral fever, the number of people affected in a town were noted as Find its standard deviation
0-10 | 10-20 | 20-30 | 3040 4050 | 5060 60-70]

e in years
Number of people affected 3 5 16 18 12 7 4 |
42. Acapsuleisinthe shape of a cylinder with two hemisphere stuck to each metits ends. If the length of the entire

capsule is 12 mm and the diameter of the' capsule is 3 mm, how much medicine it can hold
PART -D

K

IV. ‘Answer the following questions. 2x8=16

43, a) Draw the graph of xy = 24, X, y >0: Using the graph find, (i) y when x=3 and (ii) x when y=6

(OR)

_2 and hence solve x2+x-2=0.

b) Draw the graph of y=x?+x
triangle PQR with its sides equal to

44. a) Construct a triangle similar to given 7/3 of the corresponding sides

of the triangle PQR(scale factor 7/3>1 ) (OR) :
b) Construct a triangle APQR Such that QR =5 cm, /P = 30° and the altitude from P to QR is of length
42cm. . CH/10/Mat/2
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